



THE ULTIMATE SURFACE EXPERIENCE

# **COMMERCIAL DIVISION**

# South Pasadena High School

# **Senior Area - Turf Renovation**

October 29, 2015

# **Proposal Prepared For:**

Dave Lubs

# EasyTurf, Inc.

2750 La Mirada Drive Vista, CA 92081 www.easyturf.com

# Proposal Prepared By:

Charles Colletti, Director - Commercial Division Phone: 858-208-8449 Fax: 888-275-7683 E-Mail: Charles.colletti@easyturf.com

## **Contracting Point of Contact:**

Jason Mayer, Director of Contracting Phone: 573-356-7355 Fax: 888-275-7683 E-Mail: jason@easyturf.com

## **Contracting Information**

DUNS #: 131710191 Cage Code: 4TDU4 CA Contractor's License: 947142 (C27 Landscaping /D12 Synthetic Products) License Expiration Date: 5/31/2016 **GSA Contract** GSA Contract Number: GS-03F-0117Y GSA Expiration Date: 5/31/2017 **CMAS Contract** CMAS Contract Number: 4-13-78-0068A CMAS Expiration Date: 8/31/2017 **CA Department of Industrial Relations (DIR)** DIR Registration Number: 1000006880 DIR Expiration Date: 6/30/2016



Contract Holder Contract GS-03F-0117Y



**CMAS Contract** 4-13-78-0068A









# **Statement of Work**

### LOCATION AND DESCRIPTION

**South Pasadena High School – 1401 Fremont Ave, South Pasadena, CA 91030 –** Project area consists of three areas totaling 11,842 SF. The largest area measures approximately 9,605 SF and will require removal and disposal of existing organics. This area will have 6,658 SF of synthetic turf and 2,947 SF of DG landscape. The medium-sized and triangle areas total 2,237 SF, of which 174 SF will be DG in the medium-sized area. The project will also include installation of 1,690 LF perimeter of composite nailer board and bender board for DG areas.

#### **SITE PREPARATION & INSTALLATION**

- 1. Removal and disposal of existing organics.
- 2. Installation of (7) 36" box trees with irrigation and root barrier.
- 3. Install composite nailer board along perimeter for secure turf installation.
- 4. Installation of aggregate base that is compacted to 90%.
- 5. Installation of **EasyTurf Nutmeg Premium**.
- 6. Supply and install sand infill.
- 7. Clean area and complete final inspection.
- 8. 8 Year non-prorated Warranty.
- 9. 8 Year Critical Fall Height Warranty.
- 10. 8 Year pre-paid non-prorated 3<sup>rd</sup> Party Insured Warranty, 0 deductible, no limit on claims.

#### **PRICING**

Item	CMAS Price	Ancillary Items	Quantity	Total
Playground – Synthetic Turf				
Removal and Disposal – Organics	\$1.65		11,842 SF	\$19,539.30
EasyTurf Elite Series - Nutmeg Premium	\$9.98		8,721 SF	\$87,035.58
Additional Base for DG landscape	\$92.00		144 YD	\$13,248.00
Nailer Board	\$2.99		1,690 LF	\$5,053.10
Installation of 36" Box Trees, Including Root Barrier		\$2,633.00	7 EA	\$18,431.00
Concrete Bench		\$1,157.00	6 EA	\$6,942.00
Sitting Boulders - Medium		\$160.00	14 EA	\$2,240.00
Sitting Boulders - Large		\$280.00	14 EA	\$3,920.00
Subtotal				\$156,408.98
Bonding 2%				\$3,128.18
Sales Tax on Materials Only				\$7,038.40
PROJECT TOTAL				\$166,575.56

• Installation will take place upon receipt of approved purchase order.



